Problera 4 (1-o1-50) ©

How much does the Eifkel tower Ienﬁ’rhen when AT = 1580 C
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Problem 2 Q\-o1-34%)

Af ,M=0.250 kg
A <oup, W= O%0Tkg

at T, =250C

(H;0)

put in freezer and @ = 388 kJ taken away from the system,
{find the £inal temperature T—f_’

First, assume no €reez‘\r\3 (we m"\\c}h‘r be wrong on this eoint, but Y @
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« so the no ?reez'mj is 3 sily assumgption, try with @reez\nﬂ, but same specific heat for
o water and ice (correct

Q - [W\ quc, * H’Cmg AT+ m L]L that later)
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Specific heat of ice is only 0% FlegK) See TaHe (R w ual IT @ ‘Problem 3 (\-02-44) @
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but we uweed to Land AT,
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=205 °C

thus the final temperature of the soup and the pot in the freezer wil be
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but remember
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Problem 4 (W\-02-58)

How much @ (heat) is needed to raise T, = 250C > 330C = [

CQ) for ac N=1.5 wd , chd’och,J Toable 23 1 Cy=R&ER
S=wCy 8T = w(2SRST =i swe(2s 22137) € 2 2503

b) for Xewvou ) (,QLEQ(/ %s Cy = %R
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